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Unit 3 Review - Modeling With Geometry

Shapes and Nets
Determine the 3D figure formed by the net.
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Determine the surface area of each figure.
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Rotations of 2D Figures to Create 3D Figures

Describe the 3D figure created by rotating the 2D figure around the given line.
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24. Brittany is going to cover the label on a Pringles can and decorate it for Easter. The can has a diameter of
4.5 in. and a height of 14 in. She only needs to cover the label, not the top or bottom of the can, what is the
. ini t of needed? — - .
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22, Determine the surface area of the a textbook that has a lel of 11 inches, a width of 8 inches,
and a height of 3 inches.

. 2
Covey =\ by et (front< ockof loook.) =1m. %5 —{fof'.IZH’] 7
T \ 3Kinny Y-éd' (w S?\N?o@bm!&) Pt
e A =8xII=% _
TR AE e SAZIEOES

27. A section of concrete pipe 3.0 m long has an inside diameter of 1.2 m
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